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discuss this statement in the light of Indian experience
since last two decades. (15)
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Do you think India can base its future growth on
exports in an increasingly deglobalized and post Covid
world? How has India differed from China and other

East Asian countries in the past in this regard.
(7.5+7.5)
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Critically analyse the impact of the ‘shock treatment’
in the form of accepting the farm laws as the right
path in increasing the productivity and incomes of the
farmers in the agricultural sector in India. (15)
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What factors are responsible for slow growth of

manufacturing sector in India despite liberal economic
reforms constructed and adopted since the last quarter
century? What measures are required to be taken to
achieve the goal of rapid growth of manufacturing in
India? {7%.5,7.5)
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India has made impressive recent progress in building
the “hardware” of economic success, yet at the same
time, the country continues to struggle to fix its
“software”. In this background, discuss the statement-
“Whether India manages to boom again and become
a serious alternative to China will depend on whether
the country can finally overcome the long-standing
defects in its policy software.” (15)
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3.

What do you understand by ‘Deindustrialisation?’ Has
India deindustrialised like many Latin American and
African economies? Give arguments in support of your
answer. (5+10)
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How has trade in services evolved over the years in
India? What are the emerging issues in the arena of
trade policy that India has to be mindful of ?
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Doubling Farm Income in India has been the top most
priority for India for decades. What are the major
steps that the Government should take in achieving
the above? (15)
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“For services sector to be sustainable, the sector needs
to be well integrated with other parts of the economy,
in particular the manufacturing sector.” Elaborate and
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